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1. For the issues brought out by the following text, propose three sets of research questions. Each of
the three sets represents one qualitative research paradigm. Identify the characteristics of each of the
three sets and differences among the three sets in terms of their research paradigms. (35%)
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2. The landmark of qualitative research is thick descriptions. Pick up one of your research questions
proposed for the third exam question. Pretend that you had finished your data collection and analyses.
Descript your research findings for the chosen research question in 1000 to 2000 words. (15%)
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3. Give a specific and detailed example of how you will establish the reliability and validity of a
psychological test or scale. (25%)

4. Dr. Lin hypothesizes that environment as well as genetics may be an important factor in influencing
intelligence. While reading a review article on the topic, he found two past studies mentioned in that article,
which were conducted to test the hypothesis. Both studies used identical twins that had been reared apart, one
twin in each pair in an enriched environment (Group 1) and the other twin in an impoverished environment
(Group 2), and compared 1Q scores between the two groups. The following table shows a

summary of their statistical test results:

Study A: X, - X, = 13.7, statistically significant at o = 0.05.

Study B: X, - X, = 16.2, not significant at & = 0.05.

(1) Noting the apparently contradictory results (i.e., a smaller sample mean difference allowing rejection of
the null hypothesis in Study A whereas a larger sample mean difference failed to reject the same hypothesis in
Study B), Dr. Lin concludes that an error must have been made in data analysis in either one of the two
studies, or both. Do you agree or disagree with his conclusion? If you agree, what are possible causes of the
error made? Or, if you disagree, how can you explain the above apparently inconsistent result? (20%)

(2) Given the information above, which of the two tests is likely to have higher power? Why? (5%)




